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DX-16080002040505 Seat No.
M. Com. (Sem. IV) (CBCS) (W.E.F.-2016) Examination
April - 2022
Statistics
(Adv. Busi. Stat-6)

(Operation Research)
(Old Course)

Time : 2% Hours] [Total Marks : 70
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2x+5y<120,4x+2y <80, x,y >0

z=3x+4y Héu™.
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YAdH z=x-3y+2z
Wl : 3x—y—2z<7,-2x+4y <12, —4x+3y+8z<10,
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4 yxedl ¢ ABC [sawgl, Meldsdl EOQ. 15
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ENGLISH VERSION

Instructions :
(1) All questions are compulsory.
(2) Marks are indicated on right side.

1  Explain : Types of operation research.
OR
1 Solve the following LPP by graphic method :

2x+5y<120,4x+2y <80, x,y >0

z =3x+4y Maximum.

2 State its assumptions and limitation for LP.
OR
2 Using simplex method solve the following LPP :

Minimize z=x-3y+2z
Const : 3x—y—-2z<7,-2x+4y<12,-4x+3y+8z<10,

x,,220

3  Explain : Player, Pay-off matrix.
OR
3  Expalin the meaning of PERT and CPM and give its
characteristics.

4  Explain : EMV, EVPI, EOL.
OR
4  Explain : ABC analysis, Determining EOQ.
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